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1.  —Who________for the shooting at a movie theatre in America?
—A gunman named James Eagan Holmes.
A．is to blame　	B．has blamed
C．is blaming　	D．is to be blamed
2. On Christmas Eve，there were so many customers that the shop assistants couldn’t   ________them all.
A．apply to 　	B．appeal to
C．attend to 　	D．commit to
3.  Children________to difficult situations are better at handling those________tasks.
A．exposing；challenging　	B．exposed；challenged
C．exposed；challenging　	D．exposing；challenged
4. According to the driver’s explanation, it was not his carelessness but the bad road conditions that ______ for the accident. 
A. was to blame     	                    B. was to be blamed     
C. were to be blamed     	                D. were to blame 
5. —Many guests got sick after the dinner.
—I think the fried fish was a ______.
A. victim 	   B. suspect       C. cure        	D. clue 
6. Nowadays, children are ______ to too many violent online games, which is bad for the         development of their character.    
A. linked       	B. led         C. used        	D. exposed
7. The president ____ the new economic policy. 
A. announced    B. told        C. informed     D promised 
8. Before using the machine,  you must ____ carefully to these instructions . 
A．join         B. join in       C. take part in   D. attend 
9. Six months after suffering our__________on the spring practice field，we won our first game and our second，and continued to improve.
A．defeat			B. decline.      C. accident		D．Mistake
10. ________,I’d like to say how much I’ve enjoyed staying in your beautiful country. 
 A. To conclude   B. To include    C. In the conclude  D. As conclusion
